
CHEMISTRY

BOOKS - CENGAGE CHEMISTRY (HINGLISH)

REDUCTION AND OXIDATION REACTION OF ORGANIC

COMPOUNDS

Illustration

1. Complete the following reactions: 

 


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iOlNns6U4nEs


 

d. 

Watch Video Solution

Propane nitrile
(N )

( i )PhMgBr

−−−−−−−−−→
( ii )H3O

⊕
(O)

Zn−Hg
−−−−−−−→

HCl
(P )

2. Give the products of the following and the name of the reactions: 

 


https://dl.doubtnut.com/l/_iOlNns6U4nEs
https://dl.doubtnut.com/l/_u0qWM2s6kcl6


 


View Text Solution

3. Convert the following: 

 

https://dl.doubtnut.com/l/_u0qWM2s6kcl6
https://dl.doubtnut.com/l/_MMFV8Nys8Ljt


How will you decide whether Clemmensen, Wolff-Kishner, or Raney Ni

desulphurisation is the most efficacious for reducing a carbonyl

compound?

Watch Video Solution

4. Selects the best way for reducing 

 


https://dl.doubtnut.com/l/_MMFV8Nys8Ljt
https://dl.doubtnut.com/l/_6H0SlreVqacb


group in each of the following:

Watch Video Solution

https://dl.doubtnut.com/l/_6H0SlreVqacb


5. Complete the following: 

View Text Solution

https://dl.doubtnut.com/l/_EF4HezwOO9OB


6. Which alcohol is prepared from the following ketones via MPV

reduction? 

Watch Video Solution

7. Give the products of LAH with: 

https://dl.doubtnut.com/l/_uEBemhZ9kXwV
https://dl.doubtnut.com/l/_dQwwmKyOxkyJ


Watch Video Solution

8. Give the products of the following: 

View Text Solution

9. Give the product of the reaction of LAH with: 

Watch Video Solution

https://dl.doubtnut.com/l/_dQwwmKyOxkyJ
https://dl.doubtnut.com/l/_jd6gJQetMnSQ
https://dl.doubtnut.com/l/_6AhIrE2erpC2


10. Complete the following reduction reactions with LAH and

 : 


Watch Video Solution

NaBH4

https://dl.doubtnut.com/l/_fK47ZHEdgOds


11. Complete the following MPV reductions: 

Watch Video Solution

12. Complete the following Clemmensen and Wolff-Kishner

reductions: 

View Text Solution

https://dl.doubtnut.com/l/_uRAzvSjVHCWC
https://dl.doubtnut.com/l/_p73a6wx70P9O


13. Complete the following Mendius and Stephen's reductions: 

Watch Video Solution

14. Complete the following Bouveault- Blane (B.B) reduction: 

a.  


b.  


Watch Video Solution

MeCH
(A )

= O
Na+PrOD

−−−−−−→ (B)

Me2 C
(C )

= O
K+n−BuOD

−−−−−−−−→ (D)

MeCOO
(E )

Et
Cs+EtOD

−−−−−−→ (F )

https://dl.doubtnut.com/l/_p73a6wx70P9O
https://dl.doubtnut.com/l/_wF9c665s5vUk
https://dl.doubtnut.com/l/_HWTs1CgPHcOp


15. Complete the following reactions: a.

View Text Solution

https://dl.doubtnut.com/l/_HWTs1CgPHcOp
https://dl.doubtnut.com/l/_FWRrHzOrzutV


16. Give the products of 

a. p-Benzoquinone 

 


and 

b.  with 


i.  


ii.  


iii.  


iv.  


v.  


vi.  


vii.  


viii.  


PhCH = CH − CHO

H2 + Pt

H2 + Pd − C(1atm)

LAH

NaBH4

Zn + HAc

NH2NH2 + KOH + glycol + Δ

HI + P

LAH + AlCl3

https://dl.doubtnut.com/l/_eDIkE8fgVMAR


ix.  


x.  


xi. 

View Text Solution

(Me2CHO − )3Al + Me2CHOH

Li or Na, liq. NH3 + EtOH

Na + EtOH

17. Give the product of each of the following reactions: 

View Text Solution

https://dl.doubtnut.com/l/_eDIkE8fgVMAR
https://dl.doubtnut.com/l/_WddgrBO8Hrqy


18. Select the most suitable alcohol and oxidant to parpare the

following compounds. 

 


View Text Solution

https://dl.doubtnut.com/l/_upd49rCUpGQM


19. Give the product of tthe following with chromate oxidation. 

a. 

Watch Video Solution

https://dl.doubtnut.com/l/_E0ySfi7hrU2n


20. Find the following A,B, and C product of the reaction 

View Text Solution

21. Distinguish between acetaldehye and benzaldehyde.

Watch Video Solution

22. Which of the following compounds is/not oxidised by Fehling's

solution? 

https://dl.doubtnut.com/l/_RUsfafSulSsa
https://dl.doubtnut.com/l/_denoDv59gqRx
https://dl.doubtnut.com/l/_lm64mFCck2Kp


a. Acetaldehyde 

b. Phenylacetaldehyde 

c. Benzaldehyde 

d. p-Methyl benzaldehyde

Watch Video Solution

23. 

Watch Video Solution

24. An organic compound of molecular formula  did not give

a silver mirror with Tollens reagent but gave a positive Brady's test

C3H6O

https://dl.doubtnut.com/l/_lm64mFCck2Kp
https://dl.doubtnut.com/l/_4xkJzrJCekK4
https://dl.doubtnut.com/l/_DJnECtMpZghd


and positive iodoform test. It may be: 

Watch Video Solution

25. a. Ketone (A) which undergoes haloform reaction gives

compound (B) on reduction. (B) on heating with sulphuric acid gives

compounds (C ) which forms monozonide (D). (D) on hydrolysis in the

presence of Zn dust gives only acetaldehyde. Identify (A), (B), (C ). 

b.  on heating with  and  gives yellow precipitate

(A) on dehydration using  gives (B) which on catalytic

hydration gives (C ) which gives Lucas test readily. Identify (A), (B),

and (C ). 

c. Compound (A)  forms a phenylhydrazone and gives a

negative Tollens and negative iodoform tests. (A) on reduction gives

C6H14O(A) KOH I2

Al2O3

C5H10O

https://dl.doubtnut.com/l/_DJnECtMpZghd
https://dl.doubtnut.com/l/_lJBm7PPePi3a


n-pentane. Identify A. 

d. One gram mixture of  and  reacts with

Bendict's reagent to give a red precipitate. The mass of the red

precipitate obtained is . Calculate the  of  in the

mixture.

View Text Solution

CH3OH CH3CHO

gm
1

43
% CH3CHO

26. Complete the following reaction

Watch Video Solution

27. Which of the following give(s) iodoform test? Give their oxidation

products after acidification. 

https://dl.doubtnut.com/l/_lJBm7PPePi3a
https://dl.doubtnut.com/l/_A1ActmpVfiX1
https://dl.doubtnut.com/l/_P16AFZWBfj7k


Watch Video Solution

28. Give the oxidation products of reaction of the following with KOI. 

Watch Video Solution

https://dl.doubtnut.com/l/_P16AFZWBfj7k
https://dl.doubtnut.com/l/_v3L5OscsT2yj


29. Give a simple test to distinguish between the compounds in each

of the following paris. 

Watch Video Solution

30. Compound , is intert to  in . Vigorous

oxidation with hot alkaline  yields benzoic acid.  gives a

precipitate with Bragy's regent. Write all possible structures for .

Watch Video Solution

X, C9H10O Br2 CCl4

KMnO4 X

X

https://dl.doubtnut.com/l/_v3L5OscsT2yj
https://dl.doubtnut.com/l/_Ojc2fWGue3qz
https://dl.doubtnut.com/l/_Ikj6PDwKH7kh


31. Give the products of the periodate oxidation of: 

Watch Video Solution

https://dl.doubtnut.com/l/_Ikj6PDwKH7kh
https://dl.doubtnut.com/l/_NXE5EVpqACvZ
https://dl.doubtnut.com/l/_9eljjEWmiK8i


Solved Example

32. Identify the compound  that gives each the following products

on oxidative cleavage with . 


a.  


b. Cyclopentanone  


c.  


d.  


e. 

View Text Solution

A

HIO4

PhCHO + MeCOMe

+HCHO

2HCHO + HCOOH

5HCOOH + HCHO

3HCOOH + 2HCHO + CO2

1. Give the products of the following compounds reduced with: 

a.  


b.  


NaBH4 /MeOH

LAH /ether

https://dl.doubtnut.com/l/_9eljjEWmiK8i
https://dl.doubtnut.com/l/_CAhU8U3X61AV


c. , 100 atm or , , 35 atm. 


Watch Video Solution

H2 /Ni, Δ H2 /Pt + Al2O3 Δ

2. Complete the following reactions: 

 


W h Vid S l i

https://dl.doubtnut.com/l/_CAhU8U3X61AV
https://dl.doubtnut.com/l/_MGDQspaeam0p


Watch Video Solution

3. Complete the following: 

i. Give the oxidation product of 

 

v. Distinguish between allyl alcohol (A) and n-propyl alcohol (B). 

vi. Complete the following: 

 


c.  
CH3CHO + HC ≡ CD
CH3ONa

−−−−−→ (A)

https://dl.doubtnut.com/l/_MGDQspaeam0p
https://dl.doubtnut.com/l/_xQCbhNFApAoe


d.  

vii. Write the stereochmical products of the following: 

View Text Solution

https://dl.doubtnut.com/l/_xQCbhNFApAoe


4. Convert the following: 

Watch Video Solution

5.  


 


https://dl.doubtnut.com/l/_39CUpQzwpRti
https://dl.doubtnut.com/l/_NfPSs8DjMjjO


 


View Text Solution

https://dl.doubtnut.com/l/_NfPSs8DjMjjO


6. Complete the following reactions: 

 

https://dl.doubtnut.com/l/_WMqaXZmsJ67u


 


https://dl.doubtnut.com/l/_WMqaXZmsJ67u


 


https://dl.doubtnut.com/l/_WMqaXZmsJ67u


EXAMPLE

View Text Solution

1. Give the products of nitrobenzene when it is reacted with the

following: 

a.  


b.  


Pd/H2

P /HI

https://dl.doubtnut.com/l/_WMqaXZmsJ67u
https://dl.doubtnut.com/l/_SBe2gDMFwO3N


Exercise

c.  


d.  


e.  


f.  


g.  


h. 

View Text Solution

Fe/HCl

PPh3

PhNH2

PhCH2CN

NH2OH

RMgBr/H2O

https://dl.doubtnut.com/l/_SBe2gDMFwO3N


1. Complete the follwing: 

 


https://dl.doubtnut.com/l/_kIDPxhtURWYS


https://dl.doubtnut.com/l/_kIDPxhtURWYS


View Text Solution

2. Convert  


(Note that  can cause cleavage of the ring in the presence

of the activating)  group.

Watch Video Solution

KMnO4

( − OH)

3. In which of the following compounds does intramolecular -

bonding occure? 

H

https://dl.doubtnut.com/l/_kIDPxhtURWYS
https://dl.doubtnut.com/l/_SS96U9cS1RxE
https://dl.doubtnut.com/l/_G0Czg1Y9DYch


a. -Nitro phenol 

b, -Cresol 

c. -Hydrox benzoic acid 

d. Salicylaldehyde 

e. -Fluoro phenol 

f. -Hydrox-benzonitrile 

g. Methyl salicylate ( oil of wintergreen)

Watch Video Solution

o

o

o

o

o

4. Identify , 


View Text Solution

(A), (B), (C)

https://dl.doubtnut.com/l/_G0Czg1Y9DYch
https://dl.doubtnut.com/l/_9D4Tjph0OkTo


5. Convert 

Watch Video Solution

6. Complete the following: 

 


https://dl.doubtnut.com/l/_9D4Tjph0OkTo
https://dl.doubtnut.com/l/_R72LiK8IsWfq
https://dl.doubtnut.com/l/_HSZJ900GrUqn


b.  


View Text Solution

https://dl.doubtnut.com/l/_HSZJ900GrUqn


7. Certain cyclic 1, 3-diketone give, under Clemmensen reduction, a

fully reduced product along with a monoketone with ring

contraction. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_CeGj1OZOzsXr


8. 

View Text Solution

https://dl.doubtnut.com/l/_IFArft70avt0
https://dl.doubtnut.com/l/_CM7YF1fgWETC


9. 

Watch Video Solution

10. 

Watch Video Solution

11. 

Watch Video Solution

https://dl.doubtnut.com/l/_CM7YF1fgWETC
https://dl.doubtnut.com/l/_c0EmeLrJvYCa
https://dl.doubtnut.com/l/_dBmym5r83X3O


Exercise (Linked Comprehension)

1. (A)  

(B) Gives positive Tollens test but negative iodform test. 

(C ) Give negative Tollens test but positive iodoform test. 

The compound (A) is:

A. a.

B. b.

C. c.

D. d.Both  and 

Answer: D

Watch Video Solution

A(C7H14)
O3 /Red

−−−−→ B(C3H6O) + C

(a) (b)

https://dl.doubtnut.com/l/_0alPqYdWQA16


2. (A)  

(B) Gives positive Tollens test but negative iodform test. 

(C ) Give negative Tollens test but positive iodoform test. 

The compound (B) is:

A. a.

B. b.

C. c.

D. d.Both  and 

Answer: D

Watch Video Solution

A(C7H14)
O3 /Red

−−−−→ B(C3H6O) + C

(b) (c)

https://dl.doubtnut.com/l/_0alPqYdWQA16
https://dl.doubtnut.com/l/_w0rZzNdMuRSU
https://dl.doubtnut.com/l/_1uIx68YkJar2


3. (A)  

(B) Gives positive Tollens test but negative iodform test. 

(C ) Give negative Tollens test but positive iodoform test. 

The compound (C ) is:

A. a.

B. b.

C. c.

D. d.Both  and 

Answer: D

Watch Video Solution

A(C7H14)
O3 /Red

−−−−→ B(C3H6O) + C

(a) (c)

4. (A)  

(B) Gives positive Tollens test but negative iodform test. 

A(C7H14)
O3 /Red

−−−−→ B(C3H6O) + C

https://dl.doubtnut.com/l/_1uIx68YkJar2
https://dl.doubtnut.com/l/_Io51BIdCGtPK


(C ) Give negative Tollens test but positive iodoform test. 

The compound (B) can be converted to (C ) by using the reagents:

A. a.i. , ii. 

B. b.i. , ii. 

C. c.i. , ii. 

D. d.i. , ii. 

Answer: B

Watch Video Solution

EtMgBr/H3O
⊕ AcidicKMnO4

MeMgBr/H3O
⊕ AcidicKMnO4

EtMgBr/H3O
⊕ AqueousKMnO4

MeMgBr/H3O
⊕ AqueousKMnO4

5. (A)  


(A) requires  of  for its saturation. 


(B) reduces ammoniacal  and gives yellow colour with 

. 


(C ) does not reduce Tollens reagent but gives iodoform test. 

(D) on dehydration with conc.  gives a mixture of colourless

(C8H14)
[O ]

−−−−−−−−−→
AcidicKMnO4

(B) + (C) + (D)

2mol H2

AgNO3

NaOH + I2

H2SO4

https://dl.doubtnut.com/l/_Io51BIdCGtPK
https://dl.doubtnut.com/l/_5KLCeSphPsYj


gases. 

The compound (A) is:

A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

6. (A)  


(A) requires  of  for its saturation. 


(B) reduces ammoniacal  and gives yellow colour with 

(C8H14)
[O ]

−−−−−−−−−→
AcidicKMnO4

(B) + (C) + (D)

2mol H2

AgNO3

https://dl.doubtnut.com/l/_5KLCeSphPsYj
https://dl.doubtnut.com/l/_hCGeVodpgwKi


. 


(C ) does not reduce Tollens reagent but gives iodoform test. 

(D) on dehydration with conc.  gives a mixture of colourless

gases. 

The compound (B) is:

A. a.

B. Me-CH=O

C. c.

D. d.

Answer: B

Watch Video Solution

NaOH + I2

H2SO4

https://dl.doubtnut.com/l/_hCGeVodpgwKi


7. (A)  


(A) requires  of  for its saturation. 


(B) reduces ammoniacal  and gives yellow colour with 

. 


(C ) does not reduce Tollens reagent but gives iodoform test. 

(D) on dehydration with conc.  gives a mixture of colourless

gases. 

The compound (C ) is:

A. a.

B. b.

C. c.

D. d.

(C8H14)
[O ]

−−−−−−−−−→
AcidicKMnO4

(B) + (C) + (D)

2mol H2

AgNO3

NaOH + I2

H2SO4

https://dl.doubtnut.com/l/_CRFAEksOrE2e


Answer: B

Watch Video Solution

8. (A)  


(A) requires  of  for its saturation. 


(B) reduces ammoniacal  and gives yellow colour with 

. 


(C ) does not reduce Tollens reagent but gives iodoform test. 

(D) on dehydration with conc.  gives a mixture of colourless

gases. 

The compound (D) is:

A. a.

B. b.

(C8H14)
[O ]

−−−−−−−−−→
AcidicKMnO4

(B) + (C) + (D)

2mol H2

AgNO3

NaOH + I2

H2SO4

https://dl.doubtnut.com/l/_CRFAEksOrE2e
https://dl.doubtnut.com/l/_TEl7RfjU3Ln9


C. c.

D. d.

Answer: C

Watch Video Solution

HOOC − COOH

9. (A)  


(A) requires  of  for its saturation. 


(B) reduces ammoniacal  and gives yellow colour with 

. 


(C ) does not reduce Tollens reagent but gives iodoform test. 

(D) on dehydration with conc.  gives a mixture of colourless

gases. 

The mixture of colourless gases is:

A. a.

(C8H14)
[O ]

−−−−−−−−−→
AcidicKMnO4

(B) + (C) + (D)

2mol H2

AgNO3

NaOH + I2

H2SO4

CO2

https://dl.doubtnut.com/l/_TEl7RfjU3Ln9
https://dl.doubtnut.com/l/_LXbpoyrlcbGF


B. b.

C. c.

D. d.

Answer: D

Watch Video Solution

CO

CO2 + CO

CO2 + CO + H2O

10.  


The compound (A) is:

A. a.

https://dl.doubtnut.com/l/_LXbpoyrlcbGF
https://dl.doubtnut.com/l/_jkoYXQ51KmK7


B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

11.  


The compound (B) is:

A. a.

https://dl.doubtnut.com/l/_jkoYXQ51KmK7
https://dl.doubtnut.com/l/_atIcWb8ZLB7S


B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

12.  


The compound (C ) is:

A. a.

https://dl.doubtnut.com/l/_atIcWb8ZLB7S
https://dl.doubtnut.com/l/_T2jfAATIMVIM


B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

13.  


The compound (D) is:

https://dl.doubtnut.com/l/_T2jfAATIMVIM
https://dl.doubtnut.com/l/_ybob0cSTIkMk


A. a.

B. b.

C. c.

D. d.Both  and 

Answer: A

Watch Video Solution

(a) (b)

14. Complete the following reaction

https://dl.doubtnut.com/l/_ybob0cSTIkMk
https://dl.doubtnut.com/l/_R5VtGXaGnp10


A. a.i. Acidic , ii.  and heat

B. b.i. Aqueous , ii.  and heat

C. c. Acidic , ii.  and heat

D. d. Aqueous , ii.  and heat

Answer: A

Watch Video Solution

KMnO4 Ca(OH)2

KMnO4 Ba(OH)2

KMnO4 NaOH

KMnO4 NaOH

15. (A)  


i. (A) does not decolourise  in , reacts with Na to give a

colourless and odourless gas (B). 

ii. (A) does not give iodoform test. 

iii. (A) is a chiral compound and oxidation of (A) with  gives

a chiral compound (C ). 

iv. The colour of  change to blue-green when added to

(C9H12O)
[O ]

−−−−−−−−→
HotKMnO4

PhCOOH

Br2 CCl4

CrO3 /Py

Cr2O
2 −
7

https://dl.doubtnut.com/l/_R5VtGXaGnp10
https://dl.doubtnut.com/l/_Xw3N7jFVxPi9


compound (A). 

The structure of compound (A) is:

A. a.

B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Xw3N7jFVxPi9


16. (A)  


i. (A) does not decolourise  in , reacts with Na to give a

colourless and odourless gas (B). 

ii. (A) does not give iodoform test. 

iii. (A) is a chiral compound and oxidation of (A) with  gives

a chiral compound (C ). 

iv. The colour of  change to blue-green when added to

compound (A). 

The colourless and odourless gas (B) is:

A. a.

B. b.

C. c.

D. d.

Answer: C

W h Vid S l i

(C9H12O)
[O ]

−−−−−−−−→
HotKMnO4

PhCOOH

Br2 CCl4

CrO3 /Py

Cr2O
2 −
7

CO

CO2

H2

H2O

https://dl.doubtnut.com/l/_Xw3N7jFVxPi9
https://dl.doubtnut.com/l/_qkjjXzbOQCMR


Watch Video Solution

17. (A)  


i. (A) does not decolourise  in , reacts with Na to give a

colourless and odourless gas (B). 

ii. (A) does not give iodoform test. 

iii. (A) is a chiral compound and oxidation of (A) with  gives

a chiral compound (C ). 

iv. The colour of  change to blue-green when added to

compound (A). 

The compound (C ) is:

A. a.

B. b.

(C9H12O)
[O ]

−−−−−−−−→
HotKMnO4

PhCOOH

Br2 CCl4

CrO3 /Py

Cr2O
2 −
7

https://dl.doubtnut.com/l/_qkjjXzbOQCMR
https://dl.doubtnut.com/l/_T67KIK448uDh


C. c.

D. d.

Answer: B

Watch Video Solution

18. (A)  


i. (A) does not decolourise  in , reacts with Na to give a

colourless and odourless gas (B). 

ii. (A) does not give iodoform test. 

iii. (A) is a chiral compound and oxidation of (A) with  gives

a chiral compound (C ). 

(C9H12O)
[O ]

−−−−−−−−→
HotKMnO4

PhCOOH

Br2 CCl4

CrO3 /Py

https://dl.doubtnut.com/l/_T67KIK448uDh
https://dl.doubtnut.com/l/_f99klOG6oabJ


iv. The colour of  change to blue-green when added to

compound (A). 

The colour of  changes from orange to blue-green when

added to compound (A). The blue-green colour is due to the

formation of:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

Cr2O
2 −
7

Cr2O
2 −
7

Cr2 +

Cr3 +

CrO
2 −
4

CrO5

https://dl.doubtnut.com/l/_f99klOG6oabJ


19.  


The compound (C ) is:

A. a.

B. b.

C. 

D. d.Both  and 

Answer: A

Watch Video Solution

Et − ≡ − Et

(a) (b)

https://dl.doubtnut.com/l/_Mxd6L33LYz7a


20.  


The compound (F) is:

A. a.

B. b.

C. 

D. d.Both  and 

Answer: B

Watch Video Solution

Et − ≡ − Et

(a) (b)

https://dl.doubtnut.com/l/_yCvYY4zjgurx


21.  


The compound (D) is:

A. a.

B. b.

C. c.

D. d.Both  and 

Answer: A

W h Vid S l i

(b) (c)

https://dl.doubtnut.com/l/_THXzBVAxpnAP


Watch Video Solution

22.  


The compound (G) is:

A. a.

B. b.

C. c.

D. d.Both  and (b) (c)

https://dl.doubtnut.com/l/_THXzBVAxpnAP
https://dl.doubtnut.com/l/_eXaHzL40IfUC


Answer: D

Watch Video Solution

23.  


The compound (E) is:

A. a.

B. b.

C. c.One mole of  and one mol of .

D. d. No reaction.

Answer: A

Watch Video Solution

(a) (b)

https://dl.doubtnut.com/l/_eXaHzL40IfUC
https://dl.doubtnut.com/l/_LE5SeP9PR9ws


24.  


The compound (H) is:

A. a.

B. b.

C. c.One mole of  and one mol of .

D. d. No reaction.

Answer: D

Watch Video Solution

(a) (b)

https://dl.doubtnut.com/l/_LE5SeP9PR9ws
https://dl.doubtnut.com/l/_P7eytRxvQb3t


25.  


The compound (C ) is:

A. a.

B. b.

C. c.

https://dl.doubtnut.com/l/_27kitebWmh4K


D. d.

Answer: B

Watch Video Solution

26.  


The compound (D) is:

A. a.

B. b.

https://dl.doubtnut.com/l/_27kitebWmh4K
https://dl.doubtnut.com/l/_n7zEz9hghO5V


C. c.

D. d.

Answer: C

Watch Video Solution

27.  


The compound (E) is:

A. a.Benzene

B. b.Phenol

https://dl.doubtnut.com/l/_n7zEz9hghO5V
https://dl.doubtnut.com/l/_wXrdjZ0fnclZ


C. c.

D. d.

Answer: C

Watch Video Solution

28.  


In the formation of compoud (E) from (A), the name of the reaction

is:

A. a.Elbs persulphate oxidation

B. b.Mannich reaction

https://dl.doubtnut.com/l/_wXrdjZ0fnclZ
https://dl.doubtnut.com/l/_BsFRNwO86Wtq


C. c.Dakin's reaction

D. d.Oppenauer oxidation

Answer: C

Watch Video Solution

29.  


The compound (F) is:

A. a.Benzene

B. b.Phenol

C. c.

https://dl.doubtnut.com/l/_BsFRNwO86Wtq
https://dl.doubtnut.com/l/_uB5cYQ2hPNTZ


D. d.

Answer: A

Watch Video Solution

30.  


The compound (B) is:

https://dl.doubtnut.com/l/_uB5cYQ2hPNTZ
https://dl.doubtnut.com/l/_bwSATMMRXSoB


A. a.

B. b.

C. c.

https://dl.doubtnut.com/l/_bwSATMMRXSoB


D. d.

Answer: D

View Text Solution

31.  


The compound (C ) and (D), respectively, are:

https://dl.doubtnut.com/l/_bwSATMMRXSoB
https://dl.doubtnut.com/l/_eiC6A74HBp1i


A. a.

B. b.

C. c.

D. d.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_eiC6A74HBp1i


32.  


The compound (F) is:

A. a.

B. b.

https://dl.doubtnut.com/l/_XuNptl0YEOJn


C. c.

D. d.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XuNptl0YEOJn


33.  


The compound (G) and (H), respectively, are:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qL14nnAfBzQs


Watch Video Solution

34.  


The compound (I) is:

A. a.

B. b.

https://dl.doubtnut.com/l/_qL14nnAfBzQs
https://dl.doubtnut.com/l/_KvxmjyRFzlHK


C. c.

D. d.

Answer: A

Watch Video Solution

35.  


The compound (J) and (K), respectively, are:

A. a. 
( J )

Noreaction,
(K )

Noreaction

https://dl.doubtnut.com/l/_KvxmjyRFzlHK
https://dl.doubtnut.com/l/_bF5BUqPWciEn


B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

36.  


The compound (A) is:

https://dl.doubtnut.com/l/_bF5BUqPWciEn
https://dl.doubtnut.com/l/_ZzbSSV57EoE6


A. a.

B. b.

C. c.

D. d.Both  and .

Answer: D

Watch Video Solution

(a) (b)

https://dl.doubtnut.com/l/_ZzbSSV57EoE6


37.  


The red colour of compound (B) is due to the formation of:

A. a.

B. b.

C. c.

D. d.Both  and .

Answer: A

Watch Video Solution

(a) (b)

https://dl.doubtnut.com/l/_GkALiJ1mpnlL
https://dl.doubtnut.com/l/_bDwcCm6X4szG


38.  


The deep green colour of compound (C ) is due to the formation of:

A. a.

B. b.

C. c.

D. d.Both  and .

Answer: B

View Text Solution

(a) (b)

https://dl.doubtnut.com/l/_bDwcCm6X4szG


39.  


The deep blue colour of compound (D) is due to the formation of:

A. a.

B. b.

C. c.

D. d.Both  and .

Answer: C

Watch Video Solution

(a) (b)

https://dl.doubtnut.com/l/_LCTC7LiMJOv5
https://dl.doubtnut.com/l/_iz2wSc5ymluu


40.  


The formation of different-colour compounds (B), (C ), and (D) from

(A) is called:

A. a.Lemieux reaction

B. b.Liebermann's nitroso reaction

C. c.Oppenaur oxidation

D. d.Brady's reaction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_iz2wSc5ymluu


41.  


The compound B is:

A. a.

B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

Me3C − CHO

https://dl.doubtnut.com/l/_gSe3D9CmcDlt


42.  


The compound (C ) and the reaction involving the conversion of (B)

to (C ) are:

A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gSe3D9CmcDlt
https://dl.doubtnut.com/l/_RPoYnFyyvech


43.  


The compounds (D) and (E) respectively are:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

PhOH + Me3C − CH2OH

PhCH2OH + Me3C − OH

PhOH + Me3C − CHO

PhCHO + Me3C − OH

https://dl.doubtnut.com/l/_yc1nK9akAEie


44.  


The compounds (F) and (G), repectively, are:

A. a.

B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

PhOH + Me3C − CHD(OH)

PhOH + Me3C − CH2OD

PhCHD(OH) + Me3C − OH

pHCH2OD + Me3C − OH

https://dl.doubtnut.com/l/_ffJbrYygYAF1


45.  


The compounds (H) and (I), repectively, are:

A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

PhCOH + Me3C − OH

PhCH2OH + Me3C − OH

PhOH + Me3C − COH

pHOH + Me3C − CH2OH

https://dl.doubtnut.com/l/_7o7WrgJKpjQJ


46.  


The compounds (J) is:

A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

Me3C − CHO

Me3C − CH2OH

Me3COOH

Me3C − CH2NH2

https://dl.doubtnut.com/l/_o50xFk1ZacLC


47.  


The compounds (K) is:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

Me3C − CD2 − NH2

Me3CD = O

Me3CH = O

Me3C − CD2 − ND2

https://dl.doubtnut.com/l/_9tn3flze0Coh


48.  


The compounds (A) is:

A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ef0FeFBLNgeR


49.  


The compounds (B) and (C ), respectively, are:

A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_0vKy6NuwrlJJ


50.  


The compounds (D) is:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zw7dh3hoEZk9


51.  


The compounds (E) is:

A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

HCHO + Me3C − CHO

https://dl.doubtnut.com/l/_S1C0TvTUV8l0


Exercise (Multiple Correct)

52.  


The compounds (F) are (G), resprctively, are:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

HCHO + Me3C − CHO

https://dl.doubtnut.com/l/_sKiRtrgN4LTw
https://dl.doubtnut.com/l/_MjeAjcG7J90s


1. Which statement(s) is/are correct about the reaction: 

A. 

B. 

C. c. No reaction takes place in , and 

D. d. No reaction takes place in , and .

Answer: A::D

View Text Solution

(A), (B), (C) (D)

(E), (F) (G)

https://dl.doubtnut.com/l/_MjeAjcG7J90s


2.  


Which statement(s) is/are correct?

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

https://dl.doubtnut.com/l/_f6VPsqoQKl3A


3. Consider the following reactions: 

 


Which of the following reagents is/are used in the above conversion?

A. 

B. 

https://dl.doubtnut.com/l/_RMTXFf9RZ9vi


C. 

D. 

Answer: C::D

Watch Video Solution

4. In Q. No. , direct conversion of II to V can be carried by:

A. a.

B. b.

C. c.

D. d.  in diglyme

Answer: A::B

Watch Video Solution

3

NaAlH4

DlBAL − H

LAH + AlCl3

NaBH4 + AlCl3

https://dl.doubtnut.com/l/_RMTXFf9RZ9vi
https://dl.doubtnut.com/l/_O1orDc2FOzRS


5. Consider the following reactions: 

 


Which of the following group(s) of reagents is/are used in the above

conversion?

A. a. , 


B. b.

C. c. , 


D. d.

Answer: A::C::D

Watch Video Solution

(A) ⇒ AcidicKMnO4, (B) ⇒ Ca(OH)2

(C) ⇒ Zn − Hg/HCl

(A) ⇒ O3 /Ph3P , (B) ⇒ Ba(OH)2, (C) ⇒ LAH /ether

(A) ⇒ O3 /H2O, (B) ⇒ Sr(OH)2

(C) ⇒ NH2NH2 /
ɵ

OH

(A) ⇒ O3 /Ag2O, (B) ⇒ Ba(OH)2, (C) ⇒ HI + RedP

https://dl.doubtnut.com/l/_gbpihS6wcDj1


6. Compound  exists in various strutures as shown: 


 

Which statement(s) is/are correct?

A. a.Compounds I and II give iodoform test. Compound I gives

white turbidity on heating with Lucas reagent, while compound

II reduces Tollens reagent.

B. b.Compound III gives silver mirror with  and

does not react with NaOBr.

C4H8O2

[Ag(NH3)2]
⊕

https://dl.doubtnut.com/l/_OXLymYy931fk


C. c.Compound IV on acid hydrolysis gives  and 

D. d.Compound V on heating is decarboxylated to propane.

Answer: A::B

Watch Video Solution

C2H5COOH

MeOH

7. Consider the following Baeyer-Villiger oxidation. 

A. a.  in peracid facilitates the reaction.

B. b.Strong -dobating group migrates.

EWG

ē

https://dl.doubtnut.com/l/_OXLymYy931fk
https://dl.doubtnut.com/l/_UUgxtGkIjJo5


C. c.The migrating group order is

.

D. d.The migrating group order of substituted phenyl group is

Answer: A::B::C::D

View Text Solution

3∘ alkyl > Phenyl > H > 2∘ alkyl > 1∘ alkyl > Me

8. Select the correct Baeyer-Villiger oxidation reaction:

A. a.

B. b.

C. c.

D. d.

Answer: A::B::D

Watch Video Solution

https://dl.doubtnut.com/l/_UUgxtGkIjJo5
https://dl.doubtnut.com/l/_MH3yI9Fs17U4


9. Select the correct group(s) of reagent(s) used in the following

conversions: 

https://dl.doubtnut.com/l/_MH3yI9Fs17U4
https://dl.doubtnut.com/l/_fcc6EO5OAqIu


A. a. ,  


, 

B. b.  


, 


C. c. , 


D. d. , 


Answer: A::B

View Text Solution

I ⇒ dil. HNO3 II ⇒ Na2Cr2O7 /H2SO4

III ⇒ KMnO4 /NaOH IV ⇒ PbO4 /
ɵ

OH, H3O
⊕

I ⇒ dil. HNO3, II ⇒ KMnO4 /H ⊕

III ⇒ KMnO4 /NaOH

IV ⇒ TsCl + acidicKMnO4 + H2O

I ⇒ KMnO4 /NaOH, II ⇒ Na2Cr2O7 /H ⊕

III ⇒ KMnO4 /
ɵ

OH, IV ⇒ dil. HNO3

I ⇒ CrO3 /MeCOOH, II ⇒ KMnO4 /
ɵ

OH

III ⇒ KMnO4 /H ⊕ , IV ⇒ dil. HNO3

https://dl.doubtnut.com/l/_fcc6EO5OAqIu


10. Which statements(s) is//are correct: 

A. a.The intermediates I and II can be isolated.

B. b.In the intermediates I and II, all the resonance energy has

been lost and the activation anergy of this step is much

greater than that required for each succeeding step in which

the double bond behave like their acylic analogue.

C. c.The conditions required for the formation of I and II are more

vigorous than those required for the successive steps.

D. d.Because to this, it is not possible to stop the reaction

proceeding to complete the reduction of benzene to II

(cyclohexane), and consequently it is not possible ti isolate the

intermediates II and III.

https://dl.doubtnut.com/l/_Wsx1N5UFZwcZ


Answer: B::C::D

View Text Solution

11.  


Which of the following statement(s) is/are correct?

A. 

B. 

C. c.The compound  on reaction with  gives 
(A) HI + RedP

https://dl.doubtnut.com/l/_Wsx1N5UFZwcZ
https://dl.doubtnut.com/l/_aE45AhhplZYn


D. d.The compound  on oxidation with  gives 


Answer: B::C

Watch Video Solution

(A) MnO2

12. In Q.No. 11, which of the following reagents can be used to

convert (A) to (B)?

A. a.Conc.  at 

B. b.

C. c.

D. d.Conc.  at 

H2SO4 413K(140∘
C)

DCC

P2O5

H2SO4 383K(110∘C)

https://dl.doubtnut.com/l/_aE45AhhplZYn
https://dl.doubtnut.com/l/_6qLnniM4ziqv


Answer: B::C

View Text Solution

13. Which of the following will give yellow precipitate with KOI?

A. a.Cyclopentyl methyl carbinol

B. b. -Phenyl ethanol

C. c.

D. d.

Answer: A::B::D

Watch Video Solution

α

AAE

I3C − CHO

14. Which of the following will undergo periodic oxidation?

https://dl.doubtnut.com/l/_6qLnniM4ziqv
https://dl.doubtnut.com/l/_FQwshkKDLhv4
https://dl.doubtnut.com/l/_LsUpNsWg2FlY


A. a.

B. b.

C. c.

D. d.Glyoxal

Answer: A::C::D

View Text Solution

15. Which of the following reactions is//are correct?

A. a.

https://dl.doubtnut.com/l/_LsUpNsWg2FlY
https://dl.doubtnut.com/l/_L5R55kSUL0eE


B. b.

C. c.

D. d.

Answer: A::B::C::D

Watch Video Solution

16. Which of the following reactions is//are correct?

A. a.

B. b.

C. c.

D. d.

https://dl.doubtnut.com/l/_L5R55kSUL0eE
https://dl.doubtnut.com/l/_FcZeAjlc2APP


Answer: A::B::D

View Text Solution

17. Which statement(s) is/are wrong? 

A. a.Path I is Claisen-Schmidt rearrangement reaction, whereas

Path II is Hofmann bromamide rearrangement reaction.

B. b.Both path proceeds via the formation of acyl nitrene as an

intermediate species 

C. c.In path I and Path II, the intermediate compound formed is

alkyl isocynaye 

⎛
⎜⎜
⎝
R −

O

∣ ∣

C −
. .

N :

⎞
⎟
⎟
⎠

.

(R − N = C = O)

https://dl.doubtnut.com/l/_FcZeAjlc2APP
https://dl.doubtnut.com/l/_aNpknH8x3MeG


D. d.Both the path proceed via the formation of nitrene

 as a intermediate species.

Answer: D

View Text Solution

(R −
. .

N : )

18. Which of the following reaction(s) is/are correct?

A. a.

B. b.

C. c.

D. d.

Answer: A::D

Watch Video Solution

https://dl.doubtnut.com/l/_aNpknH8x3MeG
https://dl.doubtnut.com/l/_SFjRtTXM74E2


19. Which of the following reaction(s) is/are wrong?

A. a.

B. b.

C. c.

D. d.

Answer: B::C

Watch Video Solution

20. Which of the following reactions is/are wrong?

A. a.

MeCH2I
AgNO2

−−−→ MeCH2NO2

HNO2
−−−→ Me − C

∣ ∣

N .OH

− NO2

ɵ

OH
−−→

https://dl.doubtnut.com/l/_GhP2cypiID4N
https://dl.doubtnut.com/l/_SfS2SAe8C1i4


Blue colour

B. b.

Blood red colour

C. c.

Colourless solution

D. d.

Colourless solution

Answer: A::B::D

View Text Solution

Me2CHI
AgNO2

−−−→ Me2CHNO2

HNO2

−−−→ Me2 − C
∣

N =O

− NO2

ɵ

OH
−−→

Me3C − I
AgNO2

−−−→ Me3C −

O

↑

N = O
HNO2

−−−→ Noreaction

ɵ

OH
−−→

Me3C − I
AgNO2

−−−→ Me3C − O − N = O
HNO2

−−−→ No reaction

ɵ

OH
−−→

https://dl.doubtnut.com/l/_SfS2SAe8C1i4


21. Which of the following unbalanced reactions is/are correct?

A. a.

B. b.

C. c.

D. 

Answer: A::C::D

Watch Video Solution

22. Which of the following methods is/are correct for the synthesis

of benzaldehyde?

A. a.

B. b.

PhCOCl
H2 +Pd+BaSO4

−−−−−−−−−→

PhCOCl −−−−−−−−−−→
LiAlH (OCMe3 ) 3

https://dl.doubtnut.com/l/_AlgfvOB0PWam
https://dl.doubtnut.com/l/_fE1lgZ0Mrm6r


C. c.

D. d.

Answer: A::B::C::D

Watch Video Solution

PhCH2Oh −−−−−−−−→
Collins reagent

23. Which of the following reaction is/are correct?

A. a.

B. b.

C. c.

D. d.

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_fE1lgZ0Mrm6r
https://dl.doubtnut.com/l/_Eg52sQL2vHiH


24. Which of the following methods is/are correct for the synthesis

of 

A. a.

B. b.

C. c. 

D. d.

Answer: A::B::C::D

View Text Solution

PhBr
( 4 )Zn−Hg /HCl

−−−−−−−−−−−−−−−−−→
( 1 )Li ( 2 )CuI ( 3 )PrCOCl

PhCOPr
Zn−Hg /HCl

−−−−−−−−→

PhCOPr
NH2NH2

−−−−−−−→
ɵ

OH , Δ

https://dl.doubtnut.com/l/_Eg52sQL2vHiH
https://dl.doubtnut.com/l/_QHMGj4FIn0qE


25. Which of the following on oxidation with alkaline 

follwed by acidification with dil. HCl gives terephthalic acid?

A. a. -Ethyl toluene

B. b. -Xylene

C. c. -Diisopropyl benzene

D. d. -Xylene

Answer: A::B

Watch Video Solution

KMnO4

p

p

1, 3

m

26. Which of the following methods can be used to prepare

propanoic acid?

A. a.

B. b.CH2 = CH2 + CO + H2O
( Steam )

570 − 670K
−−−−−−−−→

High pressure

https://dl.doubtnut.com/l/_fcBdrJjkR9Le
https://dl.doubtnut.com/l/_CXHWAq8B6aPO


C. c.Reaction of  with dry ice followed by the

acidification with dil. .

D. d.Sodium ethoxide is heated with  under pressure followed

by the acidification with dil. .

Answer: A::B::C::D

Watch Video Solution

EtMgBr

HCl

CO

HCl

27. Which of the following statements is/are correct about formic

acid?

A. a.It reduces Tollens reagent.

B. b.It gives  and  on heating with conc. .

C. c.It is a stronger acid than benzoic acid

D. d.It forms formyl chloride with .

CO H2O H2SO4

PCl5

https://dl.doubtnut.com/l/_CXHWAq8B6aPO
https://dl.doubtnut.com/l/_gLDE9rrYpCnw


Answer: A::B::C

Watch Video Solution

28. Which of the following can reduce Benedict's solution?

A. a.Ethanoic acid

B. b.Methanoic acid

C. c.Phenyl methanal

D. d.Methanal

Answer: B::D

Watch Video Solution

29. Benzoic acid and carbolic acid can be distiguished by:

https://dl.doubtnut.com/l/_gLDE9rrYpCnw
https://dl.doubtnut.com/l/_fkm1zNdelaI2
https://dl.doubtnut.com/l/_zWs259J3UgJx


A. a.Aqueous 

B. b.Netural 

C. c.Aqueous 

D. d.Aqueous 

Answer: A::B

View Text Solution

NaHCO3

FeCl3

NaOH

NH3

30. Which of the following compounds do(es) not give haloform

reaction?

A. a.

B. b.

https://dl.doubtnut.com/l/_zWs259J3UgJx
https://dl.doubtnut.com/l/_Dl2DzwNWNQvY


C. c.

D. d.

Answer: A

Watch Video Solution

31. Which of the following compounds do(es) not react with

?

A. a.

B. b.

C. c.

D. d.

H2 + Pd + C

Me − ≡ − Me

MeCOMe

Me − N3

https://dl.doubtnut.com/l/_Dl2DzwNWNQvY
https://dl.doubtnut.com/l/_NDwFmqD3hN2H


Answer: B::C

Watch Video Solution

32. Which of the following compounds reacts with ?

A. a.

B. b.

C. c.

D. d.

Answer: A::B

Watch Video Solution

NaCNBH3

Me − CH = NH

Me2C = N − Me

PhNO2

https://dl.doubtnut.com/l/_NDwFmqD3hN2H
https://dl.doubtnut.com/l/_oiyKJBeyYToQ


33. Acetonitrile  on reaction with  with 

gives methyl isocyanate . Isocyanides can also be

oxidised to alkyl isocyanates with:

A. a.

B. b.

C. c.

D. d.

Answer: A::D

View Text Solution

(Me
⊕

N ≡
ɵ

C) Cl2 DMSO

(MeN = C = O)

HgO

Hg2O

Ag2O

O3

34. Alkyl isocyanides  are reduced to  amines 

 with:

(R
⊕

N ≡
ɵ

C) 2∘

(R − NH − CH3)

https://dl.doubtnut.com/l/_udIihWMSRuDz
https://dl.doubtnut.com/l/_xGJdkG6VQwri


A. a.

B. b.

C. c.

D. d.

Answer: A::C

View Text Solution

LAH

NaBH4

HI + P

H2 + Pt

35. Methanamide is reduced to methanamine with:

A. a.

B. b.

C. c.

D. d.

Answer: A::C::D

LAH

NaBH4

H2 + Ni

B2H6

https://dl.doubtnut.com/l/_xGJdkG6VQwri
https://dl.doubtnut.com/l/_1WAfFDtYSssP


Exercise (Single Correct)

Watch Video Solution

1. Which of the following gives yellow precipitate with ?

A. a.

B. b.

C. c.

D. d.All

Answer: D

Watch Video Solution

NaOI

https://dl.doubtnut.com/l/_1WAfFDtYSssP
https://dl.doubtnut.com/l/_uTWExwYaaPMY


2.  ` 


The products (A) and (B), respectively, are:

A. a.

B. b.

C. c.

D. d.

Answer: C

View Text Solution

3. Compound  reacts with  and evolves 

 reacts with  to give a compound  which is a

chiral. The structure of  is:

(A)(C4H8O3) NaHCO3

CO2(g). (A) LAH (B)

(A)

https://dl.doubtnut.com/l/_wymYzwjE1aVD
https://dl.doubtnut.com/l/_63KyHtAdnLWX


A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

4.  


The compound (C ) is:

https://dl.doubtnut.com/l/_63KyHtAdnLWX
https://dl.doubtnut.com/l/_oRQSvB6Hzqyh


A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

5.  


The compound  and (C ), respectively, are:

A. a.

(B)

https://dl.doubtnut.com/l/_oRQSvB6Hzqyh
https://dl.doubtnut.com/l/_ZdvchPgAX1Su


B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

6.  


The compound  is:

A. a.

B. b.

C. c.

(A)

LAH

HI + P

NaAlH4

https://dl.doubtnut.com/l/_ZdvchPgAX1Su
https://dl.doubtnut.com/l/_QoYhU93o2cXE


D. d.

Answer: D

Watch Video Solution

B2H6 /H2O

7.  


The compound  is:

A. a.

B. b.

(A)

https://dl.doubtnut.com/l/_QoYhU93o2cXE
https://dl.doubtnut.com/l/_VZcwD4KMosgl


C. c.

D. d.

Answer: C

Watch Video Solution

8.  


The compound  is:

A. a.

(A)

https://dl.doubtnut.com/l/_VZcwD4KMosgl
https://dl.doubtnut.com/l/_Xaflir0Ozdvk


B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

9. Acid-catalysed hydration oxymercuration-demercu-ration, and

hydroboration oxidation reaction will give the same product with:

A. a.But-2-ene

B. b.But-1-ene

https://dl.doubtnut.com/l/_Xaflir0Ozdvk
https://dl.doubtnut.com/l/_l7P0nWPjYlAk


C. c.

D. d.

Answer: A

Watch Video Solution

10. The increasing order of the rate of oxidation with 

oxidation of the following is: 

A. a.IV lt III lt II lt I

HIO4

https://dl.doubtnut.com/l/_l7P0nWPjYlAk
https://dl.doubtnut.com/l/_i3zJFJvc0bXe


B. b.I lt II lt III lt IV

C. c.IV lt III = II lt I

D. d.I lt II = III lt Iv

Answer: A

Watch Video Solution

11. Compound  


 


The compound  is:

A. a.

(A)
1molof

−−−−−−→
HIO4

(A)

https://dl.doubtnut.com/l/_i3zJFJvc0bXe
https://dl.doubtnut.com/l/_5pV493ncuzz8


B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

12. Conpound  mol of glyoxalic acid. 


The compound  is:

A. a.

(A)
2molof

−−−−−−→
HIO4

2

(A)

https://dl.doubtnut.com/l/_5pV493ncuzz8
https://dl.doubtnut.com/l/_daSOVVGoB3iU


B. b.

C. c.

D. d.

Answer: D

Watch Video Solution

13.  


The compound  is:(B)

https://dl.doubtnut.com/l/_daSOVVGoB3iU
https://dl.doubtnut.com/l/_0F3fylVxJ6Ca


A. a.

B. b.

C. c.

D. d.

Answer: D

Watch Video Solution

14. Which type of reaction in the reduction of carbonyl compound

with  and  occurs, and which nucleophile takes part in

the reaction?

A. a.Nucleophilic addition and 

LAH NaBH4

AlH
ɵ

4 or BH
ɵ

4

https://dl.doubtnut.com/l/_0F3fylVxJ6Ca
https://dl.doubtnut.com/l/_IZErIPveSS6I


B. b.Nucleophilic addition and 

C. c.Nucleophilic substitution and 

D. d.Nucleophilic substitution and 

Answer: B

Watch Video Solution

H ɵ

AlH
ɵ

4 or BH
ɵ

4

H ɵ

15. Oxidation of aldehyde and ketone by peroxybenzoic acid to ester

is called:

A. a.Elbs oxidation

B. b.Hell-Volhard-Zelinsky oxidation

C. c.Oppenaur oxidation

D. d.Baeyer-Villiger oxidation

Answer: D

https://dl.doubtnut.com/l/_IZErIPveSS6I
https://dl.doubtnut.com/l/_ut9B0SuuQalJ


Watch Video Solution

16.  


The compounds  and , respectively, are:

A. a.

B. b.

C. c.

D. d.

Answer: B

Bariumadipate
Drydistillation

−−−−−−−−→ (A)
MeCO3H

−−−−−→ (B)

(A) (B)

https://dl.doubtnut.com/l/_ut9B0SuuQalJ
https://dl.doubtnut.com/l/_YxxRC6iYex34


Watch Video Solution

17.  


The products  is:

A. a.

B. b.

C. c.

D. d.

(A)

https://dl.doubtnut.com/l/_YxxRC6iYex34
https://dl.doubtnut.com/l/_CdPe40Lh8xEP


Answer: D

Watch Video Solution

18.  


The products , and  are:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

(A), (B) (C)

https://dl.doubtnut.com/l/_CdPe40Lh8xEP
https://dl.doubtnut.com/l/_X75wZ5ornoV9


19.  


The products , and  are:

A. a.

B. b.

C. c.

D. d.

Answer: A

View Text Solution

(A), (B) (C)

https://dl.doubtnut.com/l/_X75wZ5ornoV9
https://dl.doubtnut.com/l/_SIIOiYBtG8TK


20. For the following reaction, which of the following sttaments is

correct? 

A. a.Ring  is oxidised

B. b.Ring  is oxidised

C. c.Both are oxidised

D. d.None is oxidised

Answer: A

Watch Video Solution

(A)

(B)

https://dl.doubtnut.com/l/_XkbnDZczUpKQ


21.  


The Product  is:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

MeC ≡ C − COCl
H2 + Lindlar's Catalyst

−−−−−−−−−−−−−→ (A)

(A)

Me − C ≡ C − CHO

https://dl.doubtnut.com/l/_WlpKqlPydHXE


22.  


The products (A) and (B), are:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

23. . 


The products  and  are:

A. a. , 

H2 +Ni
←−−−− PhNO2

LAH
−−→ (A)

(A) (B)

PhNH2 PhNH2

https://dl.doubtnut.com/l/_VLZJE4NsBy9C
https://dl.doubtnut.com/l/_SrhwrIKS5hVi


B. b. , 

C. c.

D. d.

Answer: C

Watch Video Solution

Ph − N = N − Ph Ph − N = N − Ph

Ph − N = N − Ph, PhNH2

Ph − NH − NH − Ph, PhNH2

24.  


The products  and  are:

A. a.

B. b.

C. c.

D. d.

Answer: D

NaBH4
←−−− PhCH = CH − CHO

1 .LAH ,ether
−−−−−−−−−−→

2 .H3O
+

(A)

(A) (B)

https://dl.doubtnut.com/l/_SrhwrIKS5hVi
https://dl.doubtnut.com/l/_neaJDzB1hpjv


Watch Video Solution

25.  


The product  and  are:

A. a.

B. b.

C. c.

D. d.

Answer: A

(A) (B)

https://dl.doubtnut.com/l/_neaJDzB1hpjv
https://dl.doubtnut.com/l/_bbkMerSC2Mpz


Watch Video Solution

26.  

The product  is:

A. a.

B. b.

C. c.

D. d.

Answer: A

View Text Solution

(A)

27.  


The product  is:(A)

https://dl.doubtnut.com/l/_bbkMerSC2Mpz
https://dl.doubtnut.com/l/_EGEXzlwo2851
https://dl.doubtnut.com/l/_0YanWCRO7NWy


A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

28.  


The product  is:

A. a.

B. b.

C. c.

(A)

https://dl.doubtnut.com/l/_0YanWCRO7NWy
https://dl.doubtnut.com/l/_mwODfvbzueR1


D. d.

Answer: C

Watch Video Solution

29.  


The product  is:

A. a.

B. b.

C. c.

D. d. None

(A)

https://dl.doubtnut.com/l/_mwODfvbzueR1
https://dl.doubtnut.com/l/_6RmUPj6BREsO


Answer: A

Watch Video Solution

30.  


The reagent  is:

A. a.Wolff-Kishner reduction

B. b.Clemmensen reduction

C. c.LAH

D. d.

Answer: A

Watch Video Solution

(A)

NaBH4

https://dl.doubtnut.com/l/_6RmUPj6BREsO
https://dl.doubtnut.com/l/_742L0lZ6t4Ro


31.  


The reagent  is:

A. a.

B. b.

C. c.Wolff-Kishner reduction

D. d.Clemmensen reduction

Answer: C

Watch Video Solution

(A)

LAH + AlCl3

NaBH4 + PtCl2

https://dl.doubtnut.com/l/_742L0lZ6t4Ro
https://dl.doubtnut.com/l/_h1vNwMeiGt2R
https://dl.doubtnut.com/l/_epCgSucXMMto


32. In Rosenmund reduction, which of the following does not poison

the catalyst ?

A. a.

B. b.S

C. c.Quinoline

D. d.Xylene

Answer: D

View Text Solution

Pd

BaSO4

33.  


The reagent (A) is:

A. a.Wolff-Kishner reduction

https://dl.doubtnut.com/l/_epCgSucXMMto
https://dl.doubtnut.com/l/_nQIaqc63lYJc


B. b.Clemmensen reduction

C. c.HI+P

D. d.All

Answer: D

Watch Video Solution

34.  


The products (A), (B), and (c ) are:

A. a.

B. b.

C. c.

D. d.

https://dl.doubtnut.com/l/_nQIaqc63lYJc
https://dl.doubtnut.com/l/_qlMnLXzDW3KE


Answer: B

Watch Video Solution

35.  


The products (A), and (B) are:

A. a.

B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qlMnLXzDW3KE
https://dl.doubtnut.com/l/_4UlwkxOSegc9
https://dl.doubtnut.com/l/_wW1cGP6O51N9


36.  


the products (A) and (B) are:

A. a.

B. b. , No reaction

C. c.No reaction, 

D. d.No reaction, No reaction

Answer: A

Watch Video Solution

NaBH4

←−−− CH3N3
LAH

−−→ (A)

CH3NH2, CH3NH2

CH3NH2

CH3NH2

37.  


The products (A), (B), and (c ) are:

A. a. , ,

NaBH4

←−−− Ethanoic anhydride
∣

⏐⏐
⏐
⏐
⏐↓
(C )

H2 /Pt

LAH
−−→ (A)

2CH3CH2OH 2CH3CH2OH 2CH3CH2OH

https://dl.doubtnut.com/l/_wW1cGP6O51N9
https://dl.doubtnut.com/l/_o5rl9e8o8xrr


B. b.  No reaction, ,

C. c. , No reaction, No reaction

D. d.No reaction, No reaction, ,

Answer: B

Watch Video Solution

2CH3CH2OH, 2CH3CH2OH

2CH3CH2OH

2CH3CH2H

38. The catalyst and solvent used in  (Meerwein- Ponndorf-

Verley) reaction are:

A. a.

B. b.

C. c.

D. d.

MPV

https://dl.doubtnut.com/l/_o5rl9e8o8xrr
https://dl.doubtnut.com/l/_ruxVWZNMaL46


Answer: A

Watch Video Solution

39.  


The reagents , and  are:

A. a.

B. b.

C. c.

D. d.

Answer: D

Watch Video Solution

(A), (B) (C)

https://dl.doubtnut.com/l/_ruxVWZNMaL46
https://dl.doubtnut.com/l/_DnjZeqxjDeIO


40.  


The products  are:

A. a.

B. b.

C. c.

D. No reaction in both cases

Answer: C

Watch Video Solution

(A), and (B)

https://dl.doubtnut.com/l/_DnjZeqxjDeIO
https://dl.doubtnut.com/l/_6GOwAAc047OE
https://dl.doubtnut.com/l/_TtlgqMnG7cuA


41.  


The product `(A), is:

A. a.

B. b.

C. c.

https://dl.doubtnut.com/l/_TtlgqMnG7cuA


D. d.

Answer: C

Watch Video Solution

42.  


The product `(A), is:

https://dl.doubtnut.com/l/_TtlgqMnG7cuA
https://dl.doubtnut.com/l/_7yJnPnpAt0wA


A. a.

B. b.

C. c.

D. d.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7yJnPnpAt0wA
https://dl.doubtnut.com/l/_dBLPJOzrsxMP


43.  


The product `(A), is:

A. a.

B. b.

C. c.

https://dl.doubtnut.com/l/_dBLPJOzrsxMP


D. d.

Answer: A

Watch Video Solution

44.  


The product `(A), is:

A. a.

https://dl.doubtnut.com/l/_dBLPJOzrsxMP
https://dl.doubtnut.com/l/_5WtfL5wInchx


B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5WtfL5wInchx


45.  


The product `(A), is:

A. No reaction

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pkFv3msf6TM9


46.  


The product , and  are:

A. a.

B. b.

C. c.

D. d.

Answer: D

View Text Solution

(A) (B)

https://dl.doubtnut.com/l/_pkFv3msf6TM9
https://dl.doubtnut.com/l/_owf1kRH9Kb5K


47.  


The product , and  are:

A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

(B) (C)

https://dl.doubtnut.com/l/_lu3xvPeramXn


48.  


The product , and  are:

A. a.  Azobenzene,  Hydrazobenzene, 

Azoxybenzene

B. b.  Azobenzene,  Azoxybenzene, 

Hydrazobenzene

C. c.  Azoxybenzene,  Azobenzene, 

Hydrazobezene

D. d.(A)  Azoxybenzene, (B)  Hydrazobenzene, (C )

Azobenzene

Answer: C

(A), (B) (C)

(A) ⇒ (B) ⇒ (C) ⇒

(A) ⇒ (B) ⇒ (C) ⇒

(A) ⇒ (B) ⇒ (C) ⇒

⇒ ⇒ ⇒

https://dl.doubtnut.com/l/_1wz2YIO0xJOU


View Text Solution

49.  


The product  and are:

A. a.  Aniline  Aniline

B. b.(A)  Aniline (B)  Phenylhydroxylamine

C. c.(A)  p-Aminophenol (B)  Phenylhydroxylamine

D. d.(A)  Aniline (B)  p-Aminophenol

Answer: D

View Text Solution

(A) (B)

(A) ⇒ (B) ⇒

⇒ ⇒

⇒ ⇒

⇒ ⇒

https://dl.doubtnut.com/l/_1wz2YIO0xJOU
https://dl.doubtnut.com/l/_DfNjekpAqOPc


50.  


The product are:

A. a.

B. b.

C. c.Both  and 

D. d.None

Answer: C

Watch Video Solution

(a) (b)

51. Toluene on reaction with  and  gives benzaldehyde as

the main product. The intermediate compound formed in the

CrO3 Ac2O

https://dl.doubtnut.com/l/_49NvN9JI1TTD
https://dl.doubtnut.com/l/_0nQejhlX7x8r


reaction is:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

PhCH2OH

PhCH(Oac)2

PhCH2Oac

PhCH(OH)2

52. The final product obtained in the oxidation of t-butyl benzene

with  is:

A. a.Benzene acid

B. b.

Na2Cr2O7 + H2SO4

PhCH2COOH

https://dl.doubtnut.com/l/_0nQejhlX7x8r
https://dl.doubtnut.com/l/_zAC45trh1YNP


C. c.

D. d.

Answer: D

Watch Video Solution

CH3COOH

53. An aromatic compound , on oxidation with acidic 

 gives dibasic acid. The compound  on nitration gives

three isomeric nitro derivatives. The compound (A) is:

A. a.o-Xylene

B. b.m-Xylene

C. c.p-Xylene

D. d.Ethyl benzene

(A), C8H10

KMnO4 (A)

https://dl.doubtnut.com/l/_zAC45trh1YNP
https://dl.doubtnut.com/l/_rU5uU15VJD7E


Answer: B

Watch Video Solution

54.  


The product  is:

A. a.

B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

PhCH2CH2CH3

( i )CrO2Cl2 /CCl4
−−−−−−−−−−−−−→

( ii ) h2O
(A)

(A)

PhCHO

PhCH2CHO

PhCH2CH2CHO

Ph

CH3

∣

PhCH − CHO

https://dl.doubtnut.com/l/_rU5uU15VJD7E
https://dl.doubtnut.com/l/_WnadeRXDktR5


55. Identify  and  in the reaction 


A. a.

B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

(A) ⋅ (B)

56. The compound  on oxidation with acidic 

gives:

Me3C − NH2 KMnO4

https://dl.doubtnut.com/l/_4ueqNZUjn311
https://dl.doubtnut.com/l/_pKKdsmLZzSm4


A. a.

B. b.

C. c.

D. d.

Answer: D

Watch Video Solution

57.  


The product  is:

A. a.

B. b.

(A)

https://dl.doubtnut.com/l/_pKKdsmLZzSm4
https://dl.doubtnut.com/l/_LpIVTC8g8NsT


C. c.

D. d.None

Answer: C

View Text Solution

Me − ≡ − COOH + MeCOOH

58.  


The product  and  are:

A. a.

B. b.

C. c.

D. None

Answer: A

(A) (B)

https://dl.doubtnut.com/l/_LpIVTC8g8NsT
https://dl.doubtnut.com/l/_LPckuWOu1bYg


View Text Solution

59. an Organic compound  forms a precipitate with

Tollens and Fehling's reagents.  has an isomer .  reacts

with  of  to form -dibromo-2-butene.  and  are:

A. a.

B. b.

C. c.

D. d.

Answer: A

Watch Video Solution

(A)(C4H6)

(A) (B) (B)

1mol Br2 1, 4 (A) (B)

https://dl.doubtnut.com/l/_LPckuWOu1bYg
https://dl.doubtnut.com/l/_Qu0PYADVaVB9


60. An alkene on ozonolysis yields only ethanal. There is an isomer of

the alkene which on ozonolysis yields:

A. a.Propanone and methanal

B. b.Propanone and ethanal

C. c.Ethanal and nethanal

D. d.Only propanone

Answer: A

Watch Video Solution

61.  


 can be:(A)

https://dl.doubtnut.com/l/_6W22SCWK0MU2
https://dl.doubtnut.com/l/_CCyMUcRksxND


A. a.

B. b.

C. c.Both correct

D. d.None is correct

Answer: C

Watch Video Solution

62. Which of the following is an incorrect statement:

A. a.The oxidation of -ethanediol with  gives

formaldehyde.

B. b.  Alcohol turns  solution green

C. c. -Butyl alochol is converted to isobutene on heating with .

1, 2 HIO4

1∘ K2Cr2O7 /H ⊕

t Cu

https://dl.doubtnut.com/l/_CCyMUcRksxND
https://dl.doubtnut.com/l/_jXO97zBLAbZk


D. d.  is also called denatured spirit.

Answer: D

View Text Solution

CH3OH

63.  


 and  are:

A. a.

B. b.

C. c.

D. d.

(A) (B)

https://dl.doubtnut.com/l/_jXO97zBLAbZk
https://dl.doubtnut.com/l/_oTlnUrKFQYaK


Answer: A

View Text Solution

64. The oxidation product of -cyclopentane diol with  or 

 is:

A. a.

B. b.

C. c.

D. d. None

Answer: A

Watch Video Solution

1, 2 HIO4

(CH3COO)4Pb

https://dl.doubtnut.com/l/_oTlnUrKFQYaK
https://dl.doubtnut.com/l/_DkRqQfwvZe4r


65. Chromic anhydride in  is not blue by:

A. a.  alcohol

B. b.  alcohol

C. c.  alcohol

D. d.

Answer: C

View Text Solution

H2SO4

1∘

2∘

3∘

66. Which of the following reactions is correct?

A. a.

B. b.

https://dl.doubtnut.com/l/_DkRqQfwvZe4r
https://dl.doubtnut.com/l/_AdNjiL81rn7H
https://dl.doubtnut.com/l/_EEfGBn6K4MjW


C. c.

D. d.

Answer: B

View Text Solution

67. Fehling's solution can make distinction between:

A. 

B.  and 

C.  and 

D. 

Answer: A

Watch Video Solution

MeCHO and PhCHO

MeCHO CH3 − C
∣ ∣

O

− CH2OH

H3C − C
∣

OH

H − C
∣ ∣

O

− CH3 HCHO

MeCHO and HCHO

https://dl.doubtnut.com/l/_EEfGBn6K4MjW
https://dl.doubtnut.com/l/_fB1wqTwlRVGd


68. . 


.  and  are:

A. a.

B. b.

C. c.

D. d.

Answer: B

Watch Video Solution

C6H10O3(Ke → ester)(A)
NaOH +I2

−−−−−−−−→
Δ

Y ellowppt

+(B)
H ⊕

−−→ (C)
Δ

−−−−−→
−CO2

CH3COOH (A) (B)

69. Suggest a suitable oxidising reagent for the following

conversions: 

https://dl.doubtnut.com/l/_jbYL4LeBWvUY
https://dl.doubtnut.com/l/_emUM0Y4JCWX4


 


A. a.  in  and  (in glacial acetic acid) in .

B. b.  in (A) and  in .

C. c.Both are correct

D. d.Both are incorrect

Answer: A

Watch Video Solution

MnO2 (A) CrO3 (B)

CrO3 MnO2 (B)

https://dl.doubtnut.com/l/_emUM0Y4JCWX4


70. . The product  formed

can:

A. a.give iodoform test.

B. b.further react with  to give t-butyl alcohol.

C. c.be obtained by the ozonolysis of 2, 3-dimethyl 1-2-butene.

D. d.all correct

Answer: D

Watch Video Solution

C2H5O −

O

∣ ∣

C − OC2H5

2MeMgBr
−−−−−→ (A) (A)

MeMgBr/H3O
⊕

71. Which of the following compounds will not give haloform

reaction?

A. a.alpha-Phenyl ethanol

https://dl.doubtnut.com/l/_ROurRilFyNW5
https://dl.doubtnut.com/l/_HklDoRj5oPxv


B. b.Acetophenone

C. c.Ethyl bromide

D. d.

Answer: D

Watch Video Solution

(MeCO)2O

72. Identify the set from the following which connot form acetone in

a single-step reaction.

A. a.

B. b.

C. c.

D. d.

(MeCOO)2Ca, Me − ≡ − H

https://dl.doubtnut.com/l/_HklDoRj5oPxv
https://dl.doubtnut.com/l/_RyDBchq238DW


Answer: D

View Text Solution

73.  


 will not

A. a.reduce Tollens reagent.

B. b.give Iodoform test

C. c.form dioxime

D. d.give ceric ammonium nitrate test.

Answer: D

View Text Solution

(A)

https://dl.doubtnut.com/l/_RyDBchq238DW
https://dl.doubtnut.com/l/_9yHzgJl92sz5


74. .  is

A. a.

B. b.

C. c.

D. d.

Answer: C

View Text Solution

CH3CH2NO2

NaNO2 +HBr
−−−−−−−−−−−→

at0 ∘C
(A) (A)

CH3CH2OH

CH3CH2OH

CH3 C
∣

NO2

= N. OH

Noreaction

75. Which of the following does not give Liebermann's nitroso

reaction?

A. a.

B. b.

PhOH

PhNHCH3

https://dl.doubtnut.com/l/_9yHzgJl92sz5
https://dl.doubtnut.com/l/_1jUVS3ZfuqGU
https://dl.doubtnut.com/l/_MqcWGzaOO6XW


C. c.

D. d.

Answer: C

View Text Solution

PhN(CH3)2

Ph −

CH3

∣

N − NO

76. Of the following compounds, whose ozonolysis proves the Kekule

structure of benzene?

A. a.Benzene

B. b.Toluene

C. c.o-Xylene

D. d.p-Xylene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_MqcWGzaOO6XW
https://dl.doubtnut.com/l/_PTmEL9zbCTA2


77. .  is:

A. a.

B. b.

C. c.

D. d.

Answer: C

View Text Solution

CH3 −

CH3

∣

CH − NO2

NaNO2 +H2SO4

−−−−−−−−−−−−→
at0 ∘C

(A) (A)

(CH3)2 − CH − OH

(CH3)2CH − N = N − Br

(CH3)2 C
∣

NO2

− N = O

(CH3)2 C
∣

NO2

− NHOH

78. 

Which of the following compounds are , and ? 


,  


(A), (B), (C) (D)

Ph −

CH3

∣

C = O CH3CH = O
( II )

https://dl.doubtnut.com/l/_PTmEL9zbCTA2
https://dl.doubtnut.com/l/_X8fWeHassC1D
https://dl.doubtnut.com/l/_2EkVkKpjm4lu


,  

, 

A. a.

B. b.

C. c.

D. d.

Answer: B

View Text Solution

CH3 − COOH
( III )

Ph −

CH3

∣

CH − OH
( IV )

CH3CH2OH
( V )

PhCOOH
( V I )

I, II, I, II

I, III, I, II

IV , V , I, III

V I, III, I, III

https://dl.doubtnut.com/l/_2EkVkKpjm4lu


79.  


The compound (A)

A. a.

B. b.

C. c.

D. d.Noreaction

https://dl.doubtnut.com/l/_vMeL7xcHhUbp


Answer: D

View Text Solution

80. Fenton's regent  with benzene gives:

A. a.

B. b.

C. c.

D. d.

Answer: C

W t h Vid S l ti

(Fe2 + + H2O2)

Noreaction

3(HOOC − COOH)

https://dl.doubtnut.com/l/_vMeL7xcHhUbp
https://dl.doubtnut.com/l/_PQaTc88hzQWl


Watch Video Solution

81. Lactic acid on oxidation with Fenton's reagent gives:

A. a.

B. b.

C. c.

D. d.

Answer: A

View Text Solution

CH3COCOOH(Pyruvicacid)

CH3COOH

HOOC − C
∣ ∣

O

− COOH

HOOC − COOH

https://dl.doubtnut.com/l/_PQaTc88hzQWl
https://dl.doubtnut.com/l/_rjINEyR31ZYb


82.  


The compounds  and  are:

A. a.

B. b.

C. c.

D. d.

Answer: D

Watch Video Solution

(A) (B)

Noreaction

https://dl.doubtnut.com/l/_VwjdT85Bs5FC


83.  


 is:

A. a.

B. b.

C. c.

D. d.

Answer: B

View Text Solution

(A)

Noreaction

https://dl.doubtnut.com/l/_mWtJIuZ5F9JH


84.  


The compound  is:

A. a.Acidic 

B. b.

C. c.

D. d.Jones reagent

Answer: B

View Text Solution

(A)

KMnO4

KOBr/H3O
⊕

SeO2 /MeCOOH

https://dl.doubtnut.com/l/_IPLrsMydFkVX


85.  


The compound  is:

A. a.

B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

(A)

Aq. KMnO4

NaOI

[Ag(NH3)2]
⊕

/H3O
⊕

MnO2

86. Which single reagent can be used in the following conversions? 

https://dl.doubtnut.com/l/_Hmt5cGKrHmLi
https://dl.doubtnut.com/l/_tXpgy3F7kfur


A. a. Poisoned Pd

B. b. Raney Ni

C. c.

D. d.

Answer: C

View Text Solution

H2 +

H2 +

H2 + Pd + C

H2 + Ni + B

87. . The compound  is:

A. a.Ethyl methyl amine

B. b.

C. c.Ethyl isocyanate

D. d.Ethyl cyanate

Answer: C

Et − N ⊕ ≡ C ɵ
Cl2 +DMSO

−−−−−−−−−−→
or HgO or O3

(A)

Ethylnitri ≤

https://dl.doubtnut.com/l/_tXpgy3F7kfur
https://dl.doubtnut.com/l/_nZY7etocSNpp


View Text Solution

88. Imines or enamines are selectively reduced to  or  amines

with:

A. a.

B. b.

C. c.

D. d.

Answer: C

View Text Solution

1∘ 2∘

NaBH4

LAH

NaCNBH3

NaAiH4

89. Caprolactone on reduction with  or  or  gives:

A. a.Butane-1,4-diol`

LAH H2 + Pt Pd

https://dl.doubtnut.com/l/_nZY7etocSNpp
https://dl.doubtnut.com/l/_aJ2Qrb3iqQwg
https://dl.doubtnut.com/l/_4SSPE9J6qtmi


B. b.Pentane-1,5-diol

C. c.Heexane-1,6-diol

D. d.Heptane-1,7-diol

Answer: B

Watch Video Solution

90. Caprolactam on reduction with  or  or  gives:

A. a. -Amino butan-

B. b. -Aminopentam-

C. c. -Aminohexan-

D. d. -Aminoheptan-

Answer: B

View Text Solution

LAH H2 + Pt Pd

4 1 − ol

5 1 − ol

6 1 − ol

7 1 − ol

https://dl.doubtnut.com/l/_4SSPE9J6qtmi
https://dl.doubtnut.com/l/_jBVyStUvD4Mk


Exercise (Assertion And Reasoning)

1.  


Statement 1: The product  formed will be a racemic mixture. 

Statement 2: The above reaction is oxymercuration and

demercuration, and it proceeds via the addition of , according

to Markovnikov's rule, and with antiregiospecificity.

A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

C. c.Statement 1 is true and statement 2 is false.

(B)

D2O

https://dl.doubtnut.com/l/_jBVyStUvD4Mk
https://dl.doubtnut.com/l/_5Kn598w9yLaC


D. d.Statement 1 is false and statement 2 is false

Answer: A

View Text Solution

2.  


Statement 1: The product formed is (B). 

Statement 2: The reaction proceeds via the formation of the

following species in the order: Radical anion  Vinylic anion 

Vinylic redical  Product

A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

→ →

→

https://dl.doubtnut.com/l/_5Kn598w9yLaC
https://dl.doubtnut.com/l/_2GpqOnaUR1EY


B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

C. c.Statement 1 is true and statement 2 is false.

D. d.Statement 1 is false and statement 2 is false

Answer: C

View Text Solution

3. The reaction of  with  or with 

gives a ketone but with  gives a  alcohol . 


Statement 2:  bond has more ionic character than 

 or  bond abd (R ) group in Grignard reagent is

more like  and is much more reactive for nuleophilic addition

reaction.

⎛
⎜⎜
⎝
R' − C

∣ ∣

O

− Cl

⎞
⎟
⎟
⎠

(R2Cd) (R2CuLi)

(RMgX) 3∘ (R2R'COH)

(C − Mg)

(C − Cu) (C − Cd)

R
. .

ɵ

https://dl.doubtnut.com/l/_2GpqOnaUR1EY
https://dl.doubtnut.com/l/_TOaa0XP4fk80


A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

C. c.Statement 1 is true and statement 2 is false.

D. d.Statement 1 is false and statement 2 is false

Answer: A

Watch Video Solution

4.  


Statement 1: The products  and  are

 


(A) (B)

https://dl.doubtnut.com/l/_TOaa0XP4fk80
https://dl.doubtnut.com/l/_o0ajdAvv70kX


Statement 2: Path I takes place by  mechanism and Path II take

place by  mechanism.

A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

C. c.Statement 1 is true and statement 2 is false.

D. d.Statement 1 is false and statement 2 is false

Answer: D

Watch Video Solution

SN 2

SN 1

5. Statement 1: Reduction of -phenyl prop-2-en-1-al with  gives

3-phenyl propan-1-ol. 

3 LAH

https://dl.doubtnut.com/l/_o0ajdAvv70kX
https://dl.doubtnut.com/l/_IsuJhE9mXVHi


Statement 2: Both the double bond and the aldehyde group of -

unsaturated aldehydes are reduced by .

A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

C. c.Statement 1 is true and statement 2 is false.

D. d.Statement 1 is false and statement 2 is false

Answer: A

Watch Video Solution

α, β

LAH

6. Statement 1: Formic acid reduces 'Tollens reagent'. 

Statement 2: Compounds containing  group reduce

'Tollens reagent'.

( − CHO)

https://dl.doubtnut.com/l/_IsuJhE9mXVHi
https://dl.doubtnut.com/l/_HiWWmNXnUzSI


A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

C. c.Statement 1 is true and statement 2 is false.

D. d.Statement 1 is false and statement 2 is false

Answer: B

Watch Video Solution

7. Statement 1: tert-Butybenzene on oxidation does not give benzoic

acid on oxidation with acidic . 


Statement 2: Due to the absence of benzylic hydrogen.

A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

KMnO4

https://dl.doubtnut.com/l/_HiWWmNXnUzSI
https://dl.doubtnut.com/l/_pCMWIQ5dyGLW


B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

C. c.Statement 1 is true and statement 2 is false.

D. d.Statement 1 is false and statement 2 is false

Answer: A

Watch Video Solution

8. Statement 1: Diisopropyl ketone on reaction with isopropyl

magnesium bromide followed by hydrolysis gives  alcohol. 


Statement 2: Grignard reagent acts as a reducing agent.

A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

2∘

https://dl.doubtnut.com/l/_pCMWIQ5dyGLW
https://dl.doubtnut.com/l/_Wsw2FDqfte3C


C. c.Statement 1 is true and statement 2 is false.

D. d.Statement 1 is false and statement 2 is false

Answer: A

View Text Solution

9. Statement 1: Schiff's regent is a dilute solution of rosaniline

hydrochloride in water whoce magneta colour is discharged with

aqueous  or . 


Statement 2: Schiff's reagent oxidies benzaldehyde to benzoic acid.

A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

C. c.Statement 1 is true and statement 2 is false.

SO2 H2SO3

https://dl.doubtnut.com/l/_Wsw2FDqfte3C
https://dl.doubtnut.com/l/_DO0AxUGHcS1C


D. d.Statement 1 is false and statement 2 is false

Answer: C

View Text Solution

10. Statement 1: Acryaldehyde  is oxidised to

acrylic acid 

 by Benedict's solution. 


Statement 2: Benedict's solution is ammoniacal  solution

containing sodium potassium tartarate.

A. a.Statement 1 and Statement 2 are true and Statement 2 is the

correct explanation of Statement 1.

B. b.Statement 1 and Statement 2 are true and Statement 2 is not

the correct explanation of Statement 1.

C. c.Statement 1 is true and statement 2 is false.

(CH2 = CH − CHO)

(CH2 = = CH − COOH)

CuSO4

https://dl.doubtnut.com/l/_DO0AxUGHcS1C
https://dl.doubtnut.com/l/_TsEVo07BYHEc


Exercise Archives (Subjective)

D. d.Statement 1 is false and statement 2 is false

Answer: C

View Text Solution

1. The reagent with which both acetadehyde and acetone react easily

is:

A. a.Tollens regent

B. b.Schiffs reagent

C. c.Grignard reagent

D. d.Fehling's solution

Answer: C

i l i

https://dl.doubtnut.com/l/_TsEVo07BYHEc
https://dl.doubtnut.com/l/_xPku513qvC5b


View Text Solution

2. A compound that gives a positive iodoform test is:

A. a.1- Pentanol

B. b.3-Pentanone

C. c.2- Pentanal

D. d.

Answer: C

View Text Solution

3. When acetaldehyde is heated with Fehling's solution it gives a

precipitate of

A. a.Cu

https://dl.doubtnut.com/l/_xPku513qvC5b
https://dl.doubtnut.com/l/_Y5OpSNJElruo
https://dl.doubtnut.com/l/_X1rddHnLhOfj


B. b.

C. c.

D. d.

Answer: C

Watch Video Solution

CuO

Cu2O

Cu + Cu2O + CuO

4. The compound that will not give iodoform on treatment with alkali

and iodine is :

A. a.Acetone

B. b.Ethanol

C. c.Diethyl ketone

D. d.Isopropyl alcohol

Answer: C

https://dl.doubtnut.com/l/_X1rddHnLhOfj
https://dl.doubtnut.com/l/_1OC1Py0LLz8B


Watch Video Solution

5. Which of the following compounds is oxidised to prepare methyl

ethyl ketone?

A. a.2-Propanol

B. b.1-Butanol

C. c.2-Butanol

D. d.t-Butyl alcohol

Answer: C

Watch Video Solution

6. Hydrogenation of benzoyl chloride in the presence of Pd on

 givesBaSO4

https://dl.doubtnut.com/l/_1OC1Py0LLz8B
https://dl.doubtnut.com/l/_0qP0lCpfXhfx
https://dl.doubtnut.com/l/_kpKXCjjU39tn


A. a.Benzyl alcohol

B. b.Benzaldehyde

C. c.Benzoic zcid

D. d.Phenol

Answer: B

Watch Video Solution

7. The appropriate reagent for the following transformation is 

A. a.

B. b.

C. c.

Zn(Hg), HCl

NH2NH2,
ɵ

OH

H2 /Ni

https://dl.doubtnut.com/l/_kpKXCjjU39tn
https://dl.doubtnut.com/l/_UDxnmXiBzFag


D. d.

Answer: B

Watch Video Solution

NaBH4

8. Which one of the following will most readily be dehydrated in

acidic condition?

A. a.

B. b.

C. c.

D. d.

https://dl.doubtnut.com/l/_UDxnmXiBzFag
https://dl.doubtnut.com/l/_DlIngK5ugvgZ


Answer: A

View Text Solution

9. 1-Propanol and 2- propanol can be distinguished by:

A. a.Oxidation with alkaline  followed by reaction with

Fehiling's solution.

B. b.Oxidation with acidic dichromate followed by reaction with

Fehling's solution

C. c.Oxidation by heating with copper followed by reaction with

Fehling's solution.

D. d.Oxidation with concentrated  follwed by reaction with

Fehling's solution.

Answer: C

KMnO4

H2SO4

https://dl.doubtnut.com/l/_DlIngK5ugvgZ
https://dl.doubtnut.com/l/_s01icycpm4hi


View Text Solution

10. Compound  [molecular formula ] is treated with

acidified potassium dichromate to form a product  [molecular

formula  forms a shining silver mirror on warming

with ammoniacal silver nitrate.  when treated with an aqueous

solution of  and sodium acetate gives a product 

. Identify the structure of .

A. a.

B. b.

C. c.

D. d.

Answer: A

View Text Solution

(A) (C3H8O)

(B)

(C3H6O)]. (B)

(B)

H2NCONHNH2

(C) (C)

CH3CH2CH = N. NHCONH2

CH3 − CH3
∣

CH3

= N. NHCONH2

CH3 − CH3
∣

CH3

= N. CONHNH2

CH2CH2CH = N. CONHNH2

https://dl.doubtnut.com/l/_s01icycpm4hi
https://dl.doubtnut.com/l/_dQuwQpuYzaPx


11. 

(A)` is:

A. a.

B. b.

C. c.

D. d.

Answer: A

View Text Solution

PhC ≡ CPh
Hg2 + +H ⊕

−−−−−−→ (A). Thecompound(A)isThecompound

https://dl.doubtnut.com/l/_QEQqWkfAFJIG


12. The products of acid hydrolysis of P and Q can be distinguished

by 

A. a. Lucas reagent

B. b. 

C. c.Fehling's solution

D. d.

Answer: C

View Text Solution

2, 4 − DNP

NaHSO3

13. How will you convert butan-2-one to propanoic acid?

A. a.Tollens reagent

https://dl.doubtnut.com/l/_tnaI2TUACoee
https://dl.doubtnut.com/l/_mYHx9MfjTa7a


B. b.Fehling's solution

C. c.

D. d.

Answer: C

View Text Solution

NaOH /I2 /H ⊕

NaOH /NaI /H ⊕

14. Which of the following compound will give a yellow precipitate

with iodine and alkali?

A. a.2-Hydroxy

B. b.Acetophenone

C. c.Methyl acetone

D. d.Acetone

Answer: A::B

https://dl.doubtnut.com/l/_mYHx9MfjTa7a
https://dl.doubtnut.com/l/_slzHhHTJn8y8


View Text Solution

15. Under Wolff-Kishner reduction conditions, the conversion which

may be brought about is:

A. a.Benzophenone to diphenyl methane

B. b.Benzaldehyde to benzyl alcohol

C. c.Cyclohexanone to cyclohexane

D. d.Cyclohexanone to cyclohexanol

Answer: A::C

View Text Solution

16. Fehling's solution 'A' consists of an aqueous solution of copper

sulphate, while Fehling's solution 'B' consists of an akaline solution

of …………..

https://dl.doubtnut.com/l/_slzHhHTJn8y8
https://dl.doubtnut.com/l/_IYaUka1GNduE
https://dl.doubtnut.com/l/_TJcvENYjrnbO


View Text Solution

17. The yield of ketone when a secondary alcohol is oxidised is more

than the yield of aldehyde when a primary alcohol is oxidised.

View Text Solution

18. Statement I: Acetic acid does not undergo haloform reaction. 

Statement II: Acetic acid has no alpha hydrogen.

A. a.Statement I and Statement II are true and Statement II is the

correct explanation of Statement I.

B. b.Statement I and Statement II are true and Statement II is not

the correct explanation of Statement I.

C. c.Statement I is true and statement II is false.

D. d.Statement I is false and statement II is false

https://dl.doubtnut.com/l/_TJcvENYjrnbO
https://dl.doubtnut.com/l/_m6ogBPVuPOf5
https://dl.doubtnut.com/l/_gnh0VgFsRPxj


Answer: C

View Text Solution

19. Give a chemical test to distinguish between methanol and

ethanol.

View Text Solution

20. Suggest a suitable reagent to distinguish acetaldehyde from

acetone.

View Text Solution

21. Ketone , which indergoes halform reaction, give compound

 on reduction.  on heating with  gives compound ,

which forms mono-ozonide  on hydrolysis in the presence

(A)

(B) (B) H2SO4 (C)

(D). (D)

https://dl.doubtnut.com/l/_gnh0VgFsRPxj
https://dl.doubtnut.com/l/_bp4t3ZIg0GP1
https://dl.doubtnut.com/l/_LE25Xn8KMc8K
https://dl.doubtnut.com/l/_t3QFDAetAE9I


of  dust gives only acetaldehyde. Identify , and .

Write down the reactions involved.

View Text Solution

Zn (A). (B) (C)

22. Give reason on one or two sentances for the following: Iodoform

is obtained by the reaction of acetone with hypoiodote but not with

iodode

View Text Solution

23. When -butanol and -butanol are separately treated with a few

drops of dilute  in one case only, the purple colour

disappears and brown precipitate is formed. Which of the two

alcohols gives the above reaction and which is the brown

precipitate?

View Text Solution

t n

KMnO4

https://dl.doubtnut.com/l/_t3QFDAetAE9I
https://dl.doubtnut.com/l/_6yivd5VgymWX
https://dl.doubtnut.com/l/_ZmFNxnfTW7Ir


24. A compound  upon treatement with alkaline

solution of iodine gives a yellow precipitate. The filterate on

acidification gives a white solid . Write the structures

of  and , and explain the formation of .

View Text Solution

(D)(C8H10O)

(E)(C7H6O2)

(D) (E) (E)

25. Identify , and  and give their strucyures. 


View Text Solution

(A), (B) (C)

26. An alkene  on ozonolysis gives only one product 

. Compound  on reaction with  yields

(A)C16H16

(B)(C8H8O) (B) NaOH /I2

https://dl.doubtnut.com/l/_ZmFNxnfTW7Ir
https://dl.doubtnut.com/l/_Jji88HDU2tfQ
https://dl.doubtnut.com/l/_vg8OWTTb2LXl
https://dl.doubtnut.com/l/_GMoF0aN3NMRw


SUBJECTIVE TYPE

sodium benzoate. Compound  reacts with  yielding

a hydrocarbon . Write the structures of compounds  and

. Based on this information, two isomeric structures can be

proposed for alkene . write thair structures and identify the

isomer which on catalytic hydrogenation  gives a

recemic mixture.

View Text Solution

(B) KOH /NH2

(C8H10) (B)

(C)

(A)

(H2 + Pd + C)

1. Write the statements of the products , and 

in the following scheme. 

(A), (B), (C), (D) (E)

https://dl.doubtnut.com/l/_GMoF0aN3NMRw
https://dl.doubtnut.com/l/_9gfx89OFVdDf


View Text Solution

https://dl.doubtnut.com/l/_9gfx89OFVdDf


2. Identify , and  in the following synthetic scheme and

write their structures. 

 

Is the compound  optically active? Justify your answer.

View Text Solution

(X), (Y ) (Z)

(Z)

3. Compound  of molecular formula  exists in

ketoform and predominantly in enolic form . On oxidation with

,  gives m-chlorobenzoic acid. Identify  and .

View Text Solution

(A) C9H7O2Cl

(B)

KMnO4 (A) (A) (B)

https://dl.doubtnut.com/l/_CCJmHfPc0MUK
https://dl.doubtnut.com/l/_QeWsBqrnFYgH

